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�� ������� η(u) ��� �� ������� ��� ψ(u) ��� ��������� �� ���� η �� ������
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η(u)t + ψ(u)x = �
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η(u)t + ψ(u)x = �� ���� ���������� �� η ��� ψ�
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ut + f (u)x = εuxx
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η(u)t + ψ�(u)x = ε(η�(u)ux)x − εη��(u)u�x .
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��� �������� u(x , t) �� ��� ������� �������� �� ��� ������������ ��� �� ��� ���
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η(u)t + ψ(u)x ≤ �
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TV(u) = lim sup
ε→�

�

ε

�
|u(x + ε)− u(x)| dx .

������� ���� �� u �� ��������������
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��� u �� � �������� �� � ������������ ��� ���� f ��(u) � �� �����

TV(u(t +Δt, ·)) ≤ TV(u(t, ·)) ��� Δt � �.

������� �L� ������������

��� u� v �� ��������� ��������� �� ��� ������������ ���� ����

�u(t +Δ, ·)− v(t +Δt, ·)�L�(R) ≤ �u(t, ·)− v(t, ·)�L�(R) ��� Δt � �.
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ut +
�
u
�
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x
= �

u(x , �) =

�
� x < �,
� x � �.
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�� ��� �������� {uj ,�} �� � ������������ ������ ��������� ��� Δt,Δx → ��

��������� ������ ���������� �� � �������� u(x , t)� ���� u �� � ����
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